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— Ex: char a;
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o TR (F 2 JASCHAFERT)
char a=33;
char b='B;
printf("%d %c\n",a,a);
printf("%d %c\n",b,b);
a=a+tb;
printf("%d %c\n",a,a);
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Char Dec Oct Hex | Char Dec ©ct Her | Char Dec Oct Hex

Char Dec Oct  Hex

(ml) [I IJEIIJIJ Ux[l]

I (sp} 32 ﬂi}iﬂ Ux2[i I 8 64 [I]l]l] lh4[l I 96 l]I4l] ﬂx&l]
(soh) 1 DOO1 0x01 1 1 33 0041 021 1| & 65 0101 041 | a 27 0141 Dz61
(stx) 2 0002 D02 I " 34 0042 022 1 B 66 D102 0xd2 | b 98 0142 0262
(etx) 30003 0x03 | # 350043 0x23 1 C 67 0103 0x43 | c 93 0143 063
(eot) 4 0004 0x(4 | § 36 0044 0x24 | D 68 0104 0xd4 | d 100 0144 0xé4
(emg) 5 0005 0x05 | % 37 0045 025 | E 60 0105 0z45 | & 101 0145 Dz65
{ack) 6 0006 Dx06 | & 38 D046 0x26 | F 70 0106 Oxdé | £ 102 0145 Oz66
(bel) 7 0007 0x07 | * 30 0047 0«27 | G 71 0107 0247 | g 103 0147 0267
(bs) 5 0010 0x08 | 40 0050 0«25 | H 72 0110 0x48 | b 104 0150 0z68
{ht) 9 0011 009 1 ) A1 D051 0«29 1 1 73 0111 0249 | 1 105 0151 0z69
(nl) 10 00I2 OxDa | * 42 0052 0x2a | J 74 0112 Oxda | j 106 0152 Oz6a
(wt) 11 0013 Ox0b | + 43 0053 0«<2b | K 75 0113 Oxzdb | k 107 0153 Ozéb
(np} 12 0014 Ox0c | , 44 0054 Ox2c | L 76 0114 Oxdc | 1 108 0154 Oz6c
(cry 13 0015 0x0d | 45 0055 0x2d | M 77 0115 0zdd | m 108 0155 Dxéd
(so) 14 0016 Ox0e | . 46 0056 Oxie | K 75 0116 Ozde | n 110 0156 Dzfe
(si) 15 0017 0x0f I [/ 47 0057 024 1 0 70 0117 Ozdf | o 111 0157 O=zéf
(dle} 16 D020 0xi0 | O 48 0060 Dx30 1 P 80 0120 0250 | p 112 0160 0=70
(del) 17 0021 Ox11 I 1 49 0061 0x31 1 Q 81 0121 051 I g 113 0161 Dx71
(de2) 185 0022 Dxl2 | 2 50 0062 0x32 | R 82 0122 0x32 | 1 114 0162 Dx72
(de3) 19 0023 0xi3 1 3 51 D063 0x33 1 3 83 0123 0253 | s 115 0163 0=73
(ded) 20 0024 0«14 | 4 52 0064 034 | T B4 0124 0234 | ¢ 116 0164 0z74
(nak) 31 0025 0x15 1 5 53 D065 0x35 | U 85 0125 0255 | n 117 0165 0=75
(syn) 22 0026 Ox16 | & 54 0066 Ox36 | W B6 0126 0x56 | v 118 01656 0z76
(eth) 23 0027 0x17 | 7 55 0067 0x37 | W 57 0127 0257 | w 119 0167 0x77
(can) 24 0030 0x18 | & 56 0070 0x38 | X &5 01530 0x58 | x 120 0170 0x78
(em) 25 0031 0x19 1 9 57 0071 0x39 1 ¥ 50 0131 0239 | ¥ 121 0171 0z79
(sub) 36 0032 Oxla | : 58 0072 Ox3a | 2 90 0132 0x5a | = 122 0172 0z7a
{esc) 27 0033 Oxlb | ; 59 0073 0«3b 1 [ 91 0133 0x5b | { 123 0173 027
(fs) 23 0034 Oxic | < 60 0074 0x3c | % 92 0134 0x5c | | 124 0174 Dx7c
(gs) 290035 0xld | = 61 0075 0x3d 1 ] 93 01535 0x5d | } 125 0175 0=7d
(rs) 30 0036 Oxle | > 62 0076 Ox3e 1| * 94 0136 OxSe | ~ 126 0175 0z7e
{us) 31 0037 Ox1f | 2 63 0077 0«31 1 35 0137 0x5F | (del) 127 0177 Ox3f
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— B char ¢[10];
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char c[4]; c[o] c[1] c[2] c[3]
clo]=H"; :

c[1]=105; H I JO(Null) 7
c[2]=0;

printf("%s\n",c);
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T <string.h>
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strcpy( char* D,char* S);
strcat( char *D, char* S);
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int strcmp(char *D,char* S), Pt fIASHID, 1 50 £ AA

char D[20], E[20];
strcpy(D,c);
strcat(D,"story");
printf("%s\n",D);
while(strcmp(D,E)!=0)
{

printf("Input a string:");

scanf("%s",E);
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» For example:

Bl |L|L|GI A|T|E|S|I|I

66 | 73|76 |76|71|{65|84|69|83(1|1

7 =666,mUHE 54 =
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VNS St 20 HdF( £ FILE* Read=fopen("ReadTest.txt","r");
1 CRAE L2 [ ROR R f = - i e Efile i Reastonua 4
h&ndlE)* EFEI —\L_ rite=fopen("Write Test.txt","w");

S Qe 3 e

— R R FILE* fopen(“filename”, “attribute”)

. Attrlbute. “r=>[EGE, “w=>H
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o Mi% pUFIZV: fscanf(FILE*, “%f %c ...

o B 7 M fprintf(FILE*, “%f %c ...
— M4 pORERf: fclose (FILE®)
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", variable names)
", variable names)

char Name[4][20], Date[20];

float Index([3];

fscanf(Read,"%s %s %s %s", Name[0],Name[1],Name[2],Name[3]);

printf("%7s %7s %7s %9s\n", Name[0],Name[1],Name[2],Name[3]);

while(fscanf(Read,"%s %f %f %f",Date,&Index[0],&index[1],&Index[2])!=EOF)
printf("%7s %7.2f %7.2f %7.2f\n",Date,Index[0],Index[1],Index[2]);
fprintf(Write, "%f %f %f %s\n", Index[0],Index[1],Index[2],Date);

}

fclose(Write);
fclose(Read);




FifReadTest A IWriteTest 7 [f]

Date ¥iff A S
2003/6/24692.94 198.79 692.21
2003/6/34678.08 198.47 698.83
2003/6/54738.34 201.08 695.00
2003/6/64740.45 202.27 706.84

4692.939941 198.789993 692.210022 2003/6/2
4678.080078 198.470001 698.830017 2003/6/3
4738.339844 201.080002 695.000000 2003/6/5
4740.450195 202.270004 706.840027 2003/6/6
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IR BT Average.txt”,
— fopen(“Average.txt”,"w");
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— fclose();
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count_t(int yearl,int month1, int dayl,int year2,int month2, int day2)
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— 2003/6/2
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— fEVEYE E L “2003/6/2" 155> 2003 6 2 (=
integers)
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0

3 |/ 6

/ 2 Null

Year [-

0

Null

Y=atoi(Year)

Flinteger % |7}

char c[15];
char Year[5]; int Y;
cin>>c;
int p0=0,p1=0;
while(c[p0]!="")
{

Year[p1]=c[p0];
pO=p0+1;
pl=pl+1;

Year[p1]=0;
Y=atoi(Year);
cout<<Y;
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while(fscanf(Read,"%s %f %f %f",Date,&Index[0],&Index[1],&Index[2])!=EOF)
{
MAArray[ArrayPtr]=Index[0];
ArrayPtr=(ArrayPtr+1)%5;
for(int i=0;i<5;i++)
{ Avg=Avg+MAArray][i];}
Avg=Avg/5;
}
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G £ 7 H %
— Buy=>F§ £ £ =1,4 5 £ #1420
— Avg=>Il 5 FEENT 15, PreAvg=>F1— [1F2ENT 15
— Profit=>4ti, BuyCost=>&[ 155 4
MR- ST
if(Buy==0)&&(Avg>=PreAvg)&&(Index[0]>=Avg))
i

BuyCost=Index[0];
Buy=1;}

e I R

if((Buy==1)&&(Avg<=PreAvg)&&(Index[0]<=Avg))

{1
Profit=Profit+(Index[0]-BuyCost);
Buy=0;}

while(fscanf(Read,"%s %f %f %f",Date,&Index[0],&Index[1],&Index[2])!'=EOF)

MAArray[ArrayPtr]=Index[0];
ArrayPtr=(ArrayPtr+1)%5;
Count=Count+1;
[if(Count<5) continue;
PreAvg=Avg; l—
Avg=0;
for(int i=0;i<5;i++)
{ Avg=Avg+MAArrayl[i];}
Avg=Avg/5;
if(Count==5) continue;
if((Buy==0)&&(Avg>=PreAvg)&&(Index[0]>=Avg))
(&
BuyCost=Index|[0]; P
Buy=1;

}
if(Buy==1)&&(Avg<=PreAvg)&&(Index[0]<=Avg))
{IItty

Profit=Profit+(Index[0]-BuyCost);

Buy=0;

i
fprintf(Write, "%s %f %f %f %d\n", Date, Index[0], Avg, Profit, Buy);

}
if(Buy==1)
{

Profit=Profit+(Index[0]-BuyCost);

}
fprintf(Write," " ﬁ: %f",Profit);
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Sh2: [ Estimate project

Step2 Fovavk & FHET

int m=0,First=1;
) while(fscanf(Read,"%s %f %f %f",Date,&Index[0],&Index[1],&Index[2])!=EOF)
Hlwhile
Sl 1Y — 9 2R
Rl ey
r1=log(Index[0]/S1); =pos
r2=log(Index[1]/S2); — fﬁ*ﬂ
rlSum=rlSum-+rl; z r(i)
riSquare=rlSquare+rl*ri; ~
r2Sum=r2Sum-+r2; no
r2Square=r2Square+r2*r2; ;(r‘ ()
r1r2Sum=rir2Sum-+rl*r2; m"
S1=Index|[0]; . .
S2=Index[1]; (2 ri(])rk(J)J
m=m-+1,; j=1
}

Step3 ﬁ%pﬂj:ﬁﬁ@ ['1[ N ﬁ@_@lgf(ﬂtﬁ\@g?

Mul=r1Sum/(m*Tau);

Mu2=r2Sum/(m*Tau);
SigmalSquare=(r1Square/(m-1)-riSum*riSum/(m*(m-1)))/Tau;
Sigma2Square=(r2Square/(m-1)-r2Sum*r2Sum/(m*(m-1)))/Tau;
Sigmal2=r1r2Sum/((m-1)*Tau)-rlSum*r2Sum/(m*(m-1)*Tau);

Step4 jaliwt s

printf("=" HERPY I FIE = (%If,%If)\n",Mul,Mu2);
printf("-H i Bl \n %I\ t%A\n%6It%IAn”,

SigmalSquare,Sigmal2,Sigmal2,Sigma2Square);
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